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１ 次の計算をしなさい。

x x x x( ) －６ ( ) ２ ＋９1 2５ －

x x
＝（５－６） ＝（－２＋９）x x－－－－ ７７７７

( ) ３ －８ ＋５ ７ －１＋４ －５3 a a a a a( ) －4

＝（３－８＋５） ＝（－７＋４） －１－５a a

００００ －－－－３３３３ －－－－６６６６a

( ) ２ －４）＋（ －７） ( ) ６ －５）－（９ －３）5 6（ （x x x x

＝２ －４＋ －７ ＝（６ －５）＋（－９ ＋３）x x x x

＝（２＋１） ＋（－４－７） ＝６ －５－９ ＋３x x x

３３３３ －－－－１１ ３１１ ３１１ ３１１ ３ －－－－２２２２x x＝（６－９） ＋（－５＋３）x －

２ 次の計算をしなさい。

３
( ) （－０．２ ）×（－７）( ) ×（－２０）1 x a2

＝（－０．２）× ×（－７）
５

a

a＝（－０．２）×（－７）×

x a－－－－１２１２１２１２ １１１１．．．．４４４４

( ) ４（３ －５） ( ) （２ －６）×（－３）3 4a x

＝４× ＋４×（－５） ＝ ×（－３）＋（－６）×（－３）３ ２a x

－－－－６６６６ ＋＋＋＋１８１８１８１８１２１２１２１２ －－－－２０２０２０２０a x

＋３a
( ) ×１０( ) （８ －４）÷（－４）5 x 6

５

２２２２ ＋＋＋＋６６６６－－－－２２２２ ＋＋＋＋１１１１x a

３ 次の計算をしなさい。

( ) ３（ ＋２）－（ －１）( ) ６ ＋４（ －２）1 a a a a2

〔 〕＝ ６ ＋４ －８a a H14 宮城県入試問題

１０１０１０１０ －－－－８ ２ ７８ ２ ７８ ２ ７８ ２ ７a a ＋＋＋＋


